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· A population of individuals for The risk of a wealth loss L

with probability pc (0 , 1) ; that is
,
face the lottery
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Their prefernes are represented by a

Bermile uttity function
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,
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,
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·
Ten is a competitive insurence market when firms offer policies

1 I , D)
,

where

I : Premium

D : Dedictible



If an individe subscrides The policy /E . D)
,

then he faces i lottery
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Preferences for intrance policies :
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Han POLICE
Xa

FIRSLINE :
- air odds , full
insurence policy

Xn =
W - I E I = W-Xn ↳

St

Hence

I = p(L - D)

W- L
I
..............

-

Xc = W -I - D = Xn - D () D = X-Ya ..w Xn

W -x = p(L - (x
-

- xc)] M

i
. 2
..

x = (E - 1) - #P xn



CE
-
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In e CE a policy (I ,D) is subscribed only if

(1) I = p(L - D)

(2) # (E .
Es) such Bat

E
⑳ d > p)L -T)

·
En(E

.
5) > En(I

,
D)

.

Proposition . In a CE all individuals subcrite The polic
-
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Ang tein odds policy different from

1 PL ,
d) is upset by a policy (p L + 2 , 0) , 2. ,

which makes profts
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Advese Selection
-

Assume Bat for a fraction XESP ,
1) of individuals The probability

of in weelth loss is pl
,
while The remaining fractionI-) of

individuals his probability is p" ,
where
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Note :
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If insnne comperior could recognite The individed of

ei Eypa ,
Thn in c CE Reg vill offer to

each type her full insuence fair-odds policy ·

What if insunce compories cannot distinguish between

high af low risk individuals ?
- -

which policias will they offer in a CE ?

Will they offer a single (pooling) policy to both

types !

Presition A CE in which the is

abscibed by both tapes JunePolie equilibrinel

does not exist
.
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(b) Ang other teir odds

Policy /p(L-D) ,
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A SegEquilibrio
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For this me nu to be a CE
,
< must be sufficelly

Large Raf .
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The separating "Menu" forms a CE PROVIDED THE (EXP
.)

ULit -F LOW MISK INDIVIDUALS Of THE POOLING

POLICY
, (p(x) L ,

0)
,

WHE MO

p(x) = b + # = H ,

WHICH IS

L(1 - # = 4()=
2

S LESS THAN The EXPECTED VILITM of The Poloca (IPB4
,
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.
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THAT Is
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Thus
,
WHEN THE SELPGRATING MENU IS T A CE..

--

MAKING THE POOLING POLICY "ATOM MAKES EVEM ONE

&FTTELL OFF .
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